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For an ox is liable for unfit sacrifices; which is not the case by 912

OVERVIEW

"wX 21 asked that the Xn>72 could have mentioned an additional X317 of MW over
T12; that if a W killed a Pw7pa 2100 MW, the MW Hya is 2°°1; however if a MW
TPwIPIAn o900 fell into a M2 and was killed, the 7127 5v2 is 7 ws. Our MooIn will
explain why we cannot derive the 7122 o7 Mo from the same source that we
derive the 7105 of M22 PWIPIAT 0D MW,

mooIn informs us of the source that M2 is 7MWD by a PWTPIAT 2100 MW
- “Y9v9 nnnw 9 %9 150 nnm watts

As we derive from the 70D of Y9 77> nam that the obligation of the 71277 9v2 to

pay, is limited to cases where the carcass belongs to him; however by a *»09 1w
TWIRAn, where the carcass must be buried and one cannot derive benefit from it, this is not
considered 17w nnaw on and the 27 5v2 is wo.

nvoIn asks:
=9 HNNY 19 NN NNNIN DY PINdH DN XY MY Y NN 98N ON)

And if you will say; why is the 7% of 278 XY 99 necessary to teach us that the
727 %y is Mo if a person was killed in the M2a? It can be derived from 7575 nm

Y93 that the 71277 %¥2 is liable only when the dead body belongs to him (to the pra).
712 should be o782 MWD -
= PYTPIND S0 NV 199097

Just as we exempt M2 from PRTPWAT S9IOD M since the i1 cannot derive any benefit
from the n%°21, similarly if a person was killed, the 11271 2 should be M5 —
= (3,09 179) PPTIIYN PN P92 NAYIY NYIYN OV OY NIY N9 1IOWHTT ANINA TION HNT

Since it is prohibited to derive any benefit from a dead body, as we derive this
through a @' of the word 2w which is written by 2 nn*»,” from the word aw

which is written by an 79 oaw,% that just as an oMy 793w is mxITa MoK (for it is
considered o°w7p) similarly the n» is also 71X172 7OX. The question remains why do we need the
Iy of DX K71 MW when we could derive the 7122 27R7 MWD from 17 7°7° M ?

A TWIPAT P00 MW is a 127 which received a o rendering it unfit for the nam. If it is redeemed it can be eaten;
however if it dies it must be buried and cannot be used to feed it to dogs, etc. See Mw 7"7>"w".

2 R,R1 00

3 19,80 [owawn] nnw (regarding the payment of p>1ai 712).

* This is referring to the 3. The 721 belongs to the pr1 and the p i pays the difference between the worth of the
live animal and its carcass.

3 (%, [Npn] 127m3) 00 Qw npn.

® (7,80 [2°09W] ©M27) TRV DR QW DN
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mMooIN anticipates a possible solution and rejects it:
= (%, 97) 71’:‘19‘1 NP 7992 1)99NTI 9N IWYYNY DIVN IN)

And if the reason why we need the 7°% of 07X X?1 0 is because the hair of a n»

is permitted to be used, as the X3 states in the first P99 of 1959, therefore on

account of the permissible hair we do consider it Y2w nniw *»; this cannot be! For -
= (8,12 97 7} P99 1191922 )3299NTI 9N PYTPIND DD MY YV ) 9N

The hair of the R7Pn Y2100 M2 is also "N as the X3 states in the third pap

of N1"152 noon -
- 15 NN PR YN NN 1IPIPY 113 591 199N)

And nevertheless, since the main body of the WP *2100 MW is MOR, it is

considered Y@ nw»:77 K. Similarly by a person it should also be considered 2w nni P, so
why is the T°% of O7& X7 W necessary?!

Mo0IN answers:
- DN 19399 0PN KDY *NWA SYNWN 19 750> H1DIT A U

And one can say; that the P109 of Y2 57977 n»m (from where we derive that there is
a 211 by M2 only 2w nnaw on?), that P09 is discussing a damage to a =W (the
[previous] 0D states 77 W MW Pw 2911), and therefore we cannot exclude a
person from that ?105. We therefore need the T7°% of 07X X721 MW to exclude DX from 2.

mooIn proves his point that 7% cannot be excluded from 12 7> nam:
= NIX TN (3,0 1mpy) N990 2992 7299719 ¥1N

You know that this is so, since the X721 asks in ;7577 p99; ‘and I will reverse it!”’
- %59 naY MY YINT MYTIY N3P HNNY YISO

The meaning of XX 719°X1 is that the Y2 77977° namy that is written by p ran 2w

should be interpreted to mean Y9 namw 1Y (thereby excluding a P> MW from paying
for a PwIPMAT "0 W [and T2 should be 2»n for a PwIPMA "0 w]). This concludes the
citation of that X7n.

mMdoIN continues with his proof that if the 7109 is discussing a MW we cannot apply the ¥1¥°» to an Q7X:
=9V NNN PRY 2 DY GNY 9910 DHUN IV XN 19D 99293D 981 Y351

And how could the X723 attempt to say this (that the 2 77 nnm of 1w should

7 See w"wn and 71"nX concerning the 27X 7w and the p"»70D MY WY.

¥ Seemingly moown asked that the word " (from which we are DTX tymn) is superfluous. It would seem therefore
that in this answer when Maoin states that we are discussing 7 he may be referring to 7 (from which we are
73 vynn); to the exclusion of o7X who is not stated in the P109. See 7w 2"77n and 7"»MX.

® The 70 writes 1% 77 N twice, once by a (12,83 [2°vawn] Nyw) Mw P*mai M, which teaches us that ov5oum o°bya
79212 (the p1o1 owns the 712°21 and the P pays for the difference between the live and dead 7w) and once by 712
which teaches us 12w naaw "n? (to exclude M2 from paying for a Pw7pMT *2100 ). The X713 there asks R 707K let
us reverse the two o 7m%.

1935 0 mam by 12 will teach us that 77212 0vhoun ov9ya.
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mean 17w nnaw nY thereby excluding things which are 7X3172 70KX); but a =% pays

297> (if it killed a person) and even though it is not Y22 n»: (no one may derive axa
from the dead person)! This paying of 1913 should indicate that the 7w7 of 2w nanw "» does not

apply by P>t w; how can the X773 contemplate that 12w naiw *» applies to P*1a7 MWw. H
= INP MYNRT HYIIDTI 95N2 19PW»N R TN DY NIN

Rather you are forced to say we are not concerned about this (that the W 5v2
has to pay 1910) as I explained that the v1v°» of 2w nnnw "n> applies only to the

killed 992 whom we are discussing in the P05 of ¥ 7 nnm, and not to the oTX who is not
included in that ?05. The same applies to the 12 77 n»um that is written by 712 that we are
referencing the [17m] 7w of the 7109, but not the a7 who is not mentioned. Therefore we need
the 7T1°% of DX 871 W to exclude 27X from 72.

mooin offers an alternate solution why we do not derive the M of 27X from 17 77 nnm:
- PN DTN RS NYT 79599 179Wr9941 SNIY 3759 NOWP KY 951 INYA)

And without this (x73 in °7797 p79) there is no difficulty here at all (why we
cannot derive the 722 078 Mo from 2 7 N»M) according to my previous

explanation that the 7% of 278 XY =W is necessary (not for a P 12, for we can
derive this from 121 71277 %Y X791 1Y nwY 791 oX, but rather) for -
NN 99 NINDT 992Y Y23 INIWIY 9391 99939 1ayh

A slave and a gentile who is owned by a Jew who fell into a pit (he cannot be
exempted on account of M7 %Y X1 ¥HY since there is a monetary obligation not a 1912
obligation and) he cannot be exempted from 12w nnanw *»», for it is permitted to derive
7IRYT from their dead bodies. The 7w 7 of 27X R MW teaches us that M2 is MWD even by an "1 72y,

SUMMARY
The 71°% of 17 o> N which teaches us 12w nnaw "nY is referencing only the W
(Mnm) that is written in the 2105 but not the o7X.

THINKING IT OVER

What is the proof15 from the RXIX 739°X in 71977 P79? Perhaps the 109 of 17 7o nom
by M would exclude a7x as well from Pm>wn. This does not contradict the 21
7913 by an 07X which is a separate 17 of 7793 and not a 17 of 1’7315!273‘1.16

' See “Thinking it over’.

29 a"7 2,097

" See X"wammne 2" 1 that MooIn first answer is necessary to explain the X723 in 79977 but not for our X3,
' See nvn ¥"7n "rn whether a 121 N (and an 72v) is X2 0.

' See footnote # 11.

' See 7"nx.
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